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Section : Quantitative Techniques and Data Interpretation

Q1 A manugemen institule ki & senior prefessors and 4 junior professars, 3 profesions ane
selected sl rasad om for & government pojped. The probabillity thal &1 beast ane of the fumlor
professors winkd pel selecled is

Options { 'lfﬁ
2. 5/6
3 243
4 1/5

Question Type : MCQ
Question ID : 41652912408
Option 1 ID : 41652948461
Option 2 ID : 41652948458
Option 3 ID : 41652948459
Option 4 ID : 41652948460

Status : Not Answered

Chosen Option : --

Q2 A mectangular bom of widihia), kel and beighiic) kas asolid olinder of beight ‘e and
of diameler ‘a” placed within il. If a=6, b=8 and ¢=10, how moch volume is 1=ft in the
veckangular bon 7

Options | 2400 - 9% 7
2. 4B0-9) w
3. 380-9

4. 480 - 180 =

Question Type : MCQ
Question ID : 41652912404
Option 1 ID : 41652948443
Option 2 ID : 41652948444
Option 3 ID : 41652948442
Option 4 ID : 41652948445

Status : Answered

Chosen Option : 2

Q3 ype speeds of 3 cars inthe ralin 5: 4 : b The ratio between the Bme ken by them fo travel
same distance s :

Options;. 15:12:11
2 1E+10:13
S 10:20:30




412:15:10

Question Type : MCQ
Question ID : 41652912384
Option 1 ID : 41652948364
Option 2 ID : 41652948363
Option 3 ID : 41652948362
Option 4 ID : 41652948365
Status : Answered
Chosen Option : 4
Q4 Thetotal volisme of soaps seld i 680 Lakhs aaits. The volame of Lus sold is 13 Likh asiis.
If the percentage of Lifebaoy sald is 3P, Camay 107, Liril 15% and Mysore Sandal 107,
answer Uhe following questinns,
/Bufia)
i ﬂ'iﬁ
o
g Ny
e o e,
xﬁun: J-h’;,zf
. e
What s thee mearket sluare of otlers in peroontage points ?
Options
PIOMS 1 16
2. 135
3. 16.8
415
Question Type : MCQ
Question ID : 41652912392
Option 1 ID : 41652948395
Option 2 ID : 41652948397
Option 3 ID : 41652948396
Option 4 ID : 41652948394
Status : Answered
Chosen Option : 4
Q5  Hajesh can check the quality of 1000 flems in 5 bours and Hakesh can complete the 7% of
same jobr in 3 howrs. Llow much tine i required for both of them o check 1900 jems, if
Kakesh stops checking after 2 howrs ¥
Options 1. 1 hour
2. 3 hours
3. 2 hours
4. 4 hours
Question Type : MCQ
Question ID : 41652912397
Option 1 ID : 41652948417
Option 2 ID : 41652948414
Option 3 ID : 41652948416
Option 4 ID : 41652948415
Status : Answered
Chosen Option : 2




Q6 Inabuiding there are Wi cylindrical pillars. The radies of each pillar is 5 cm and height is
S, Findoukthe ¢ost of paisting the corved sadface of half the mumber of pillars. The rabe

of painding is Hs. 10 per m,
Options { Es. 1650

2. Rs, 16,500
3. Rs. 4125
4. Fs 8250
Question Type : MCQ
Question ID : 41652912399
Option 1 ID : 41652948424
Option 2 ID : 41652948423
Option 3 ID : 41652948425
Option 4 ID : 41652948422
Status : Answered
Chosen Option : 1
Q7  IF fixi=x*—dr+p and fil] and f1] are of oppasite signs, then which of the Fallowing is
necessarily roe 7
Optlonsll -1« P <2
2 0<p<3
3. =2 P <]
4. —3<p=(
Question Type : MCQ
Question ID : 41652912400
Option 1 ID : 41652948426
Option 2 ID : 41652948429
Option 3 ID : 41652948427
Option 4 ID : 41652948428
Status : Answered
Chosen Option : 2
Q8  Theee solidcubes of gicles 1 ¢en, b e amd 8 o are melied bo form a e cube. Find the
sarfioe area of the culs 5o formed.
Options
P 1. 529 cm
2. 4Bbcm
3 73 cm
4 125 ¢em
Question Type : MCQ
Question ID : 41652912394
Option 1 ID : 41652948405
Option 2 ID : 41652948403
Option 3 ID : 41652948402
Option 4 ID : 41652948404
Status : Answered
Chosen Option : 2

Q.9




It ensls Ha WHNE- and B b 10 reapaictively b paind the 4 walls of 2 aquane halls, of the
saitir lveighl I ihe lengih of mive hall caceeds Uhe length of the olher by T e and ihe cosi of
painding is Bs, 5 perssm,, what is the haight of the two walls T

Options { TR m

michlle number 7
Options

2. 5 Fiy ]
3 3m
4. 10 m
Question Type : MCQ
Question ID : 41652912386
Option 1 ID : 41652948372
Option 2 ID : 41652948371
Option 3 ID : 41652948370
Option 4 ID : 41652948373
Status : Answered
Chosen Option : 2
Q10  The angle created by two hands of a clock when the clock shows 5.20 .6 is -
Options | 152
2. g
3. 30°
4. 40°
Question Type : MCQ
Question ID : 41652912402
Option 1 ID : 41652948435
Option 2 ID : 41652948437
Option 3 ID : 41652948434
Option 4 ID : 41652948436
Status : Answered
Chosen Option : 4
Q11 The length, breadih and height of a rectangular cubeld are inthe ratio 1:2: 3. i the lengih,
brrcacilyand height aos increased by 10 s each Uon v hal sl be the incecase in bhe voluse
of the culbald ¥
Options 1. 7 Hmes
2. 8 times
3. O Hmes
4. 10 Hmes
Question Type : MCQ
Question ID : 41652912403
Option 1 ID : 41652948438
Option 2 ID : 41652948439
Option 3 ID : 41652948440
Option 4 ID : 41652948441
Status : Answered
Chosen Option : 2
Q12 Yl suien aof dlvrew consecutive odd mumbsers is 20 more Usn the Girst onmber, What is the




1. Data iru:dequate

2. 9
3. 7
4. 11
Question Type : MCQ
Question ID : 41652912395
Option 1 ID : 41652948409
Option 2 ID : 41652948407
Option 3 ID : 41652948406
Option 4 ID : 41652948408
Status : Answered
Chosen Option : 2
Q.13 Shudents ina cormmence ¢liss boak a besk, The average soore of men 5 71 and of wonien is 83,
Thee class average is The Wit i the rakio of men Do somen in Che class ?
Options 1, B+ F
2. 7:8
3. 7:6
4. 6:7
Question Type : MCQ
Question ID : 41652912405
Option 1 ID : 41652948449
Option 2 ID : 41652948448
Option 3 ID : 41652948447
Option 4 ID : 41652948446
Status : Answered
Chosen Option : 3
Q14 There are & tasks and & persoms, Tasks cannod be assigmed either 1o person 1 or persan L
Lask 2 miusl e assigoed 1o clther persin 3 or person 4. Every person is lo be assigned one
task. In how may wys can the assignmewt be dome 7
Options
PRt 144
2. 360
3 192
4. 180
Question Type : MCQ
Question ID : 41652912398
Option 1 ID : 41652948418
Option 2 ID : 41652948421
Option 3 ID : 41652948420
Option 4 ID : 41652948419
Status : Not Answered

Chosen Option :

Q.15  What is ihe arca covered by a bellshaped curve from — & sigma 1o + & sigma in nomal

clisribul by 7
Options 1. 09735




2. 99.99%
3. 99.9999%
4. U9 956060

Option 1 ID

Question Type :
Question ID :

MCQ
41652912401

1 41652948430
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

41652948431
41652948432
41652948433
Not Answered

Q16 |f nne third of ane-fourth of a number & 15, then three-tenth of that number is ;
Optionsl R
2. 81
3. 4f
4. 5,-_'[__
Question Type : MCQ
Question ID : 41652912391
Option 1 ID : 41652948391
Option 2 ID : 41652948393
Option 3 ID : 41652948390
Option 4 ID : 41652948392
Status : Answered
Chosen Option : 4
Q17  What is the probability of drawing a king or a heart from a deck of cards ?
Options | L-"EI
2. 4/13
3. 17 /15
4 1/13
Question Type : MCQ
Question ID : 41652912387
Option 1 ID : 41652948377
Option 2 ID : 41652948375
Option 3 ID : 41652948376
Option 4 ID : 41652948374
Status : Answered
Chosen Option : 2

Q.18  In i sinvullamenss terow of o pairof dice, find Hwe probabilily of gefling 4 tolalof Yor mome,
Options 1 Ell,i;?

2. 5/12

3. 2/36

4. 5/18




Question Type : MCQ
Question ID : 41652912389
Option 1 ID : 41652948385
Option 2 ID : 41652948384
Option 3 ID : 41652948383
Option 4 ID : 41652948382
Status : Answered
Chosen Option : 4
Q.19 The following lable lisis the marks of seven students{rows] of a class across sis
subjecis{enlumns). The Numbers in the parentheds indicate the mavisem marks of the
subjet concemned. Use the data in tbwe table o answer the question that follows :
English Hirdi Hisiory Prisics Maths  |Cheandviry
(15} 130 L] L] [LILE {1000
Sava w 5 a0 il ki1 L]
Arya e &0 L i L i)
Kiya ] T2 L 72 " m
Sreva &5 [ ] ] (21 L]
Ry L1 §% LL] h 50 k1
Chandesh o T3 BS L] & (1]
Harish L] L5 50 b o] L]
Who s the topper of the class ?
Options 1 m},ﬂ
2. E_i!,'a
3. Roopesh
4. Maya
Question Type : MCQ
Question ID : 41652912396
Option 1 ID : 41652948411
Option 2 ID : 41652948412
Option 3 ID : 41652948413
Option 4 ID : 41652948410
Status : Answered
Chosen Option : 1
Q20 what value should come in place of question mark (%) in the follow ing equation ?
36047 + 4300 = 19700 — 9800
Options | 715
2. 5
3. 345
4. 238
Question Type : MCQ
Question ID : 41652912385
Option 1 ID : 41652948367
Option 2 ID : 41652948368
Option 3 ID : 41652948369
Option 4 ID : 41652948366
Status : Answered




l Chosen Option : 4
Q21  aww many nyinuies does Mr, Surva fake locover o distance of 500 m i Ie rams al 2 speed of
5 knghr ¥
Options 1 35 cpm
2. Bl sec
3. F2sec
4. 6l sec
Question Type : MCQ
Question ID : 41652912390
Option 1 ID : 41652948387
Option 2 ID : 41652948389
Option 3 ID : 41652948388
Option 4 ID : 41652948386
Status : Answered
Chosen Option : 3
Q.22 g :
The madimum value of 3 cosxy+4 siny +8 is
Options | i
2. 15
3.3
4. 13
Question Type : MCQ
Question ID : 41652912393
Option 1 ID : 41652948400
Option 2 ID : 41652948399
Option 3 ID : 41652948398
Option 4 ID : 41652948401
Status : Answered
Chosen Option : 4
Q.23  Inatrasglk ABC, ALY is the biseclor of angle A I AC=42cm, DC=écm, BC =10 cm, find
AR
Options 1 2@ =y
2. 34com
3. 29 om
4. 27 em
Question Type : MCQ
Question ID : 41652912388
Option 1 ID : 41652948379
Option 2 ID : 41652948380
Option 3 ID : 41652948381
Option 4 ID : 41652948378
Status : Answered
Chosen Option : 1

Q.24




T epedc] of & ol §n il weader ia 5 ko, BF # baloes Lhriee as moneh Bme inogoisg M0 ki
upsiream as in going the same distance downstream, finad Lse speed of the stream,

Options; 3 5 o
2. 45 km/hr
3 25 km/hr
4. 55 km/hr

Question Type : MCQ
Question ID : 41652912407
Option 1 ID : 41652948455
Option 2 ID : 41652948456
Option 3 ID : 41652948454
Option 4 ID : 41652948457

Status : Answered

Chosen Option : 3

Q.25 Twn aranpes, three bananas and four apples cost Re. 15, Three orangess, two bananas asd
arne apphe cosl e 10 1 bowghd 3 eramges, 3 bananas and 3 apples. How much dic | pay 7

Options { Es. &

2. Cannot be determined
3 Rs. 15

4. Es. 10

Question Type : MCQ
Question ID : 41652912406
Option 1 ID : 41652948451
Option 2 ID : 41652948453
Option 3 ID : 41652948452
Option 4 ID : 41652948450

Status : Answered

Chosen Option : 2

Section : Logical Reasoning

Q1 pirection:

I tlee following guestion a ststemend is glven followed by two argumenis choose Lhe comect
aipliomn
Statemend § Shoubd the political paries be banned 7
Arguend 1: Wos, Tt is necesaary 16 ack & lisecn Lo the politicans
Argumenit 2 Moy 0 will ead o an end of democracy

Options ;- Neither (I}, nor (11) is strong,
2. Both the arguments are strong

3. Unly (I} is strong

4. Only (I is strong,

Question Type : MCQ
Question ID : 41652912427
Option 1 ID : 41652948535
Option 2 ID : 41652948534
Option 3 ID : 41652948537
Option 4 ID : 41652948536




Status : Answered
Chosen Option : 3

2 Which word does not belong with the others ?

Options 1. PL‘lpil

2. Cormea
3. Retina
4. Vision

Question Type : MCQ
Question ID : 41652912433
Option 1 ID : 41652948561
Option 2 ID : 41652948559
Option 3 ID : 41652948560
Option 4 ID : 41652948558

Status : Answered

Chosen Option : 4

Q3 Find the odd one out of riven combinations :

Options 1L TUWY
2. ABDF
3. NOQS
4. GHJM

Question Type : MCQ
Question ID : 41652912409
Option 1 ID : 41652948465
Option 2 ID : 41652948462
Option 3 ID : 41652948464
Option 4 ID : 41652948463

Status : Answered

Chosen Option : 4

Q4 Painting ai Ankit, Shrutisaid, “his Eatlweris the only son of my prandfather” Haw is Ankil

refated ta Shmuti ?
Options 1 Brather

2. Mothor

3. Sigter

4. Daughter

Question Type : MCQ
Question ID : 41652912421
Option 1 ID : 41652948510
Option 2 ID : 41652948512
Option 3 ID : 41652948511
Option 4 ID : 41652948513

Status : Answered

Chosen Option : 1




Q5 Inike following question bebosw, 3 stabements 1, 1 and 1 are glven YVou are requdred o

fimd out which od 1he given stalement]s) byine sefficiend to anwer the question.

o ald wes Despa on 3ih Octoher 2ME 7
i} Dhewpa i b yes odder thais her sivier Praldh
(I Prabhais 29 yre poanger than her mother

[} Deepa’s mother celebrated her 657 brihday on July 275 2006

Options 1. {“.} -ﬂ.“.d {I.[[}

2. (T} and (ITTy
3. (I} and (IT)
4. All(T), (IT} and (IT)
Question Type : MCQ
Question ID : 41652912413
Option 1 ID : 41652948480
Option 2 ID : 41652948481
Option 3 ID : 41652948478
Option 4 ID : 41652948479
Status : Answered
Chosen Option : 4
Q.6 Imacertain code KIFPLE is writben as 61352 and LIFE i wriblen as 8192, How is PILLEK
veriten ity il code 7
Options 1. -:u m}_ﬁ
2. 312h88
3. F1B2Eh
4. AlEEZA
Question Type : MCQ
Question ID : 41652912415
Option 1 ID : 41652948486
Option 2 ID : 41652948489
Option 3 ID : 41652948487
Option 4 ID : 41652948488
Status : Answered
Chosen Option : 1
Q7 Choose the necessary for the given word.
“Swimming "
Options 1 Suit
2. Pool
3. Life jacket
4. Water
Question Type : MCQ
Question ID : 41652912420
Option 1 ID : 41652948507
Option 2 ID : 41652948506
Option 3 ID : 41652948509
Option 4 ID : 41652948508
Status : Answered
Chosen Option : 4
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Q.8  In simar way 123 “he is tabenled”, 1456 moans “lalonied penple carn mord”, 45678
means “perple eamn mare o enjoy”, Then what is egual te “earn” ¥

Options ; 5

2. F
3.4
4 6

Question Type : MCQ
Question ID : 41652912410
Option 1 ID : 41652948467
Option 2 ID : 41652948469
Option 3 ID : 41652948466
Option 4 ID : 41652948468

Status : Answered

Chosen Option : 1

Q9 Iirection :
In the following gquestion a stalement & given followed by two comclmsions. Choose the
eorrect opbion.
Hatrment
Any stadent wha follow un-ethical practices in examination disqualifies himself from
exaarinations

U s @
(ly These wh mvalvie i un-ethical peactions in e mination shall be debarnd
()  Examination system should be improved

options ) Oily Conclusion (1) follows
2. Neither Conclusion (T) or (IT} follows
3. Omly Conclusion (1T} follows

4. Both Conclusion (T} and (IT) follow

Question Type : MCQ
Question ID : 41652912426
Option 1 ID : 41652948530
Option 2 ID : 41652948532
Option 3 ID : 41652948531
Option 4 ID : 41652948533

Status : Answered

Chosen Option : 1

Q10 yf JAPAN is coded KCSES, then the code of CASTLE will be -
options | K WSGR
2. DCVHQEK
3. DJKRDFP
4 DIOBT

Question Type : MCQ
Question ID : 41652912414
Option 1 ID : 41652948484
Option 2 ID : 41652948485
Option 3 ID : 41652948483




Option 4 ID : 41652948482
Status : Answered
Chosen Option : 2

Q1l  |m amalogy, vou are required to gaess the relation between the two given words and fill in
the blank afier findiag the similar relstionship by choosing any word from the optioas
Riven below
FHen:ChhckzFrog:

Options 1. Tad PI’.‘I-].E

2. Fawn
3. Kitten

s Puppy

Question Type : MCQ
Question ID : 41652912417
Option 1 ID : 41652948495
Option 2 ID : 41652948497
Option 3 ID : 41652948494
Option 4 ID : 41652948496

Status : Answered

Chosen Option : 1

Q12 Find the missing number in the series below :
24, 28,30, M,

L 3
2 36
3. 40

4 28

Options

Question Type : MCQ
Question ID : 41652912411
Option 1 ID : 41652948472
Option 2 ID : 41652948470
Option 3 ID : 41652948473
Option 4 ID : 41652948471

Status : Answered

Chosen Option : 2

Q13 g ke Following question, the malnstabensend ks Followed by Tour semences. Selee the pale
of menbenoes il eclabe logically o e given stalement.
Either the employees have no confidence in tve manapsemen] ar ey are haostibe by natane.
A. They are hostile by nalure
B.  They are not hastile by natare
L They have cordsbondas in tha musna e
D They have no conidence in U managemnt

Options; 1y 5
2. BA
3. CB
4. BD




Question Type :

MCQ

Question ID : 41652912425
Option 1 ID : 41652948528
Option 2 ID : 41652948526
Option 3 ID : 41652948527
Option 4 ID : 41652948529
Status : Answered
Chosen Option : 1
Q14 Akshay and Ajay ane irfends study ing im same class. Ajaycould mol score as nusch marks as
Akshay sgored and henee Ajay’s Faller imk Ajay inke Lask. Ajay replicd thal theee a s
mamy Hke me in the class. Based on the information findout the answer o the guestion :
Abkshay ranks 13th in the dass wihere 33 students are studying. There are 5 stwdents below
Ajay rankwilee
Lo muany stadents are there bebween Akshay and Ajay §
Options 1 15
2. 16
3 14
412
Question Type : MCQ
Question ID : 41652912423
Option 1 ID : 41652948519
Option 2 ID : 41652948518
Option 3 ID : 41652948520
Option 4 ID : 41652948521
Status : Answered
Chosen Option : 4
Q.15  In the Folbowing gquestion. a group of four fepares following cerbain sequense is given as
problem figures. Problem Ggures are fallowed by apother group of four figures known as
answer figures marked (1) 21 (3, @i, Vind oat the figare fron the arswer igures which
w e placedd nexd o the problem figanes will contimes the sequence of the problem figens
Froblem Egare : Answer ligure :
I, —a _'
e m H
N ==
[y 2 & )
Options 4 {1}
: k.
2.4
3 (1)
Question Type : MCQ
Question ID : 41652912429
Option 1 ID : 41652948544
Option 2 ID : 41652948545
Option 3 ID : 41652948542
Option 4 ID : 41652948543
Status : Answered
Chosen Option : 1

Q18 Which word doesnot belong with the others ?

Options | Flute




2. Cello

3. Guilar
4. Violin
Question Type : MCQ
Question ID : 41652912419
Option 1 ID : 41652948503
Option 2 ID : 41652948505
Option 3 ID : 41652948502
Option 4 ID : 41652948504
Status : Answered
Chosen Option : 2
Q17 Kead the following information carefully to answer Uhe questions given below ii.
{a) A+ B meoans that 'A' s the father of ‘B
(B} A - B means that "A' is the wife of "B
(c) ‘A =B means that "A' is the brother of B
[d) A+ B mweans that'A is the doughter of "B
If it s given P+ R+ 54 OF, then which of the iollowing is brue ?
Optionsy. Qis the aunt of P
2. Pis the aunt of
3. Pis the mother of O
4. Pis the daughter of ()
Question Type : MCQ
Question ID : 41652912428
Option 1 ID : 41652948540
Option 2 ID : 41652948539
Option 3 ID : 41652948541
Option 4 ID : 41652948538
Status : Answered
Chosen Option : 2
Q.18 ¥ asishia started walking positioning his back lowards the mn. After somectime, Vasishia
tarned left, the turned rght, and then lowards left again. Whidh is the direction Vasishia is
BN o 3
Options 1 Wnrth or West
2. North or South
3. South or West
4. East or West
Question Type : MCQ
Question ID : 41652912432
Option 1 ID : 41652948556
Option 2 ID : 41652948554
Option 3 ID : 41652948557
Option 4 ID : 41652948555
Status : Answered
Chosen Option : 2

Q.19




Far the Assertion (A) and Keason (B) given beliw choose the comect allemative foam the
following :

(&) Copper is used to make ebactric wire

(B : Copper has very bw electne rosistange

Options; (A} is true, (R is false

2. (A} is false, (R) is true
3.

Both (A) and (R} are true and (R) is not the correct explanation of (A)
4.

Both (A) and (R} are true and (R} is the correct explanation of (A)

Question Type : MCQ
Question ID : 41652912412
Option 1 ID : 41652948476
Option 2 ID : 41652948477
Option 3 ID : 41652948475
Option 4 ID : 41652948474
Status : Answered
Chosen Option : 4
Q.20 jn the given figure, if e centres of all the drcles are joined by horizontal and vertical lines,
then fined the mumber of squares thal can be formed
"_J' 1
QQ
f_'[__'
Options 1.1
2. f
3. 8
4. 7
Question Type : MCQ
Question ID : 41652912430
Option 1 ID : 41652948549
Option 2 ID : 41652948546
Option 3 ID : 41652948548
Option 4 ID : 41652948547
Status : Answered
Chosen Option : 3
Q.21  ‘There are four Teees - Lemon, Cocost, Mangn snd Meem esch ai a differenl comer of 2
rectangulas plok A ywell is bocaled sl ome corner and & cabin a another corner. Lemon .anid
L ogouvul rees are on o s sid e ol the gate, which is locabed at Lhe cenire of skde, opposite o
ther side. extremes of which the well and cabim are Incated. The mango tnee & nt at the
ot v ere e caleim e locabed
Which o the Folbowing pakrs can e dagonally oppasite 1o gach other in the plo 7
options 1. Mango tree and Well
2. Cabin and Meem tree
3. Meem tree and Lemon tree
4. Coconut tree and Lemon tree
Question Type : MCQ
Question ID : 41652912431




Option 1 ID : 41652948552
Option 2 ID : 41652948551
Option 3 ID : 41652948550
Option 4 ID : 41652948553
Status : Answered
Chosen Option : 3

Q22 golectthe sultable il guire f o e ansvwer fipgunes thal would replace the question mark { 7).

Problem fgune : Answer figure |

l T , | =% ? Ll I ;; kS
Options 1 A

2. B

3. D

4 C

Question Type : MCQ
Question ID : 41652912422
Option 1 ID : 41652948514
Option 2 ID : 41652948515
Option 3 ID : 41652948517
Option 4 ID : 41652948516

Status : Answered

Chosen Option : 1

Q.23  If X i= the brotkeraf Y and P, Z is the mother of ¥ and () is the father of X, which coe of the
fallowing stabemen is ol definitely broe 7

Options 1 Y jg the brother of P
2. Z is the wife of Q
3. X is the son of £
4. X is the father of P

Question Type : MCQ
Question ID : 41652912416
Option 1 ID : 41652948490
Option 2 ID : 41652948492
Option 3 ID : 41652948491
Option 4 ID : 41652948493

Status : Answered

Chosen Option : 4

Q24  In mmalogy, you are required b guess the funtion relalion between the bwo given wards
and Fined the simuilar relation between the words given in any of the optian
CUP:LIMcBRD:

OPtions 1. FOREST
2. GRASS
3. BUSH

4 BEAK




Question Type : MCQ
Question ID : 41652912418
Option 1 ID : 41652948500
Option 2 ID : 41652948501
Option 3 ID : 41652948498
Option 4 ID : 41652948499
Status : Answered
Chosen Option : 4
Q.25 . P . 2 :
I'he missing term in the series 2,1, 1/2,1/4,  is
Options 1. -1.‘;-16
2.1/8
3. 1/3
4. 2/8
Question Type : MCQ
Question ID : 41652912424
Option 1 ID : 41652948525
Option 2 ID : 41652948523
Option 3 ID : 41652948522
Option 4 ID : 41652948524
Status : Answered
Chosen Option : 2
Section : English Language Comprehension
Comprehension:
Kewd the lollowing pascrge and anewer the quection thal follews |
An larguage @ anc that @ fiksfy in bodonse oxting in the noar fature. Rlany
Tz esmses ae alling out o i ard being; replacod By others ihat are neose w el usod im the pegion
or nation, suhigs Englishin ik LS, or Spanishin Moo, Lnkss current nivdf an sevenissd, Shisier
eradangricd languapes will booone: extinel within the ned oenlery. Many ot Linguages are no
Inngpr et kearnad by new gevserations of childeenor by rese adull speakons ; these lan guages will
booome exlinct when their last speaker dies. Infacl, dozens of langueges loday have only one native
speaber still lving, and Bat person’s death will mesn the etinction of the binguage : Tt will me
Iewgior e apcins, oo knwrwn, by smeore,
Ancawl Greok end Lakin Linguagos ane comaidensd doad bocause they ane na lenger spoken in the
form in which we find them in ancient writings. Bul they weren't absupily replisoed Ty other
langyamas © indoad, Anciend Leeck slewly evolved imlo modem Grock, ard Latin slowly oviodood
inder srmberrs Halian Spanish, French, Remandan, and other lnguages. b it samee way, te Biddle
English of Chascor's day ks no longer spokon, bt it has evadved indo Modisrn English
SubQuestion No : 1
Q1 Spanish language evolved oul of :
Options 1 [ atin
2. Greek
3. English
4. French
Question Type : MCQ
Question ID : 41652912437
Option 1 ID : 41652948572
Option 2 ID : 41652948571
Option 3 ID : 41652948570
Option 4 ID : 41652948573




Status : Answered
Chosen Option : 1

Comprehension:
Kewd the lollowing pascrge and anewer the quection thal follews |

An larguaps is one that i lkely 1o botonse cxiinel in the noar fabure. Many
Tz esmses ae alling out o i ard being; replacod By others ihat are neose w el usod im the pegion
or ration, suches Englivhin b LS, o Spanishin Moddo, Lakss cursent o e ant sevorisg, thise
eradangricd languapes will booone: extinel within the ned oenlery. Many ot Linguages are no
1nnﬁ|- I'rlmﬂﬁwnmd oy e grmeralione ool chiildirenor by ravr acdult q‘rd:-m: r lhﬂ-unwml
booome exlinct when their last speaker dies. Infacl, dmudhwlndm have only one native:
speaber still livimg: and Gt person’s desth will mesn the extincion of the binguage : It will ne
linrgyor e ke, o knerwm, Iy syt
Aneated Grock and Lakin Linguagos ane semsidonid doad bocause they ane ao levger spoken in the
form in which we find them in e wribings. Hail ibwy weren't .lh:ruph; mpl.'rrd v cher
langames mwhuﬂwrﬂm-ﬂhﬂpwﬂmﬁmnﬂmn i
inder prmberrs Halian . Fieneh, Remandan, and other lnguages. b it samee way, te Bl
English of Chascor's day ks no longer spokon, bt it has evadved indo Modisrn English

SubQuestion No : 2
Q.2

“These languages will become extinet ..."
In the above sentence “these” refers to ;
Options | Oiher Ia.nguage-&

2. Endangered languages

3. Spanish in Mexico

s. Middle English

Question Type : MCQ
Question ID : 41652912436
Option 1 ID : 41652948569
Option 2 ID : 41652948567
Option 3 ID : 41652948566
Option 4 ID : 41652948568

Status : Answered

Chosen Option : 2

Comprehension:
Read e lollswrg pascge and snower Lhe qisealson Lhal follews 1

An larguaps is one that @ lkely o bodonse cxiinel in the noar fabure,  Many
g nmyess o B gt ot ol e v ey, ol oy oty (st e et by s i e pegion
or fation, iuchos Englivhinibs LS, or Spanishin Modas, Lnkes sursent tieeds an seveniod, thiske
eradangreod lnwmtrll vwmier exntinel within the neal cendisry. hMany odwr Languages arm e
Luwl'rhﬁﬁwnﬁl mrﬂﬂmﬂ't&dh\mnrhrtﬁﬂuhm ﬂwhnwml
booome estinct when their last speaker dies. Infacl, dozens of langueges loday have only one native
speaker still livimg, and bt person’s desth will mosn the evtinction of the binguasge : It will ne
langgor B apeicomy, oo ke, by o,
Aneaed Grock and Lakin Linguagos are cemsidond dead because they ane a0 lenges spoken in the
fowm im whh we Tind e (5 ekl writinegs. Bt ibwy weren't .lh:mphp h’-j'l-l'h'ﬂ‘! v oiher
languass Mﬁﬁﬂhuﬂ%fﬂﬂdhﬂpﬂﬂmﬁnﬂ.ﬂuﬁn v
inder prmoberrs Halian . Fienhi, Remaniarn, and othet languages. b itbse saime iy, Uie Bliddle
Engliah of Chascors day b no longes spokom, bt it hae evabved into Modisrn English

SubQuestion No : 3

Q3 What is endangered language ?

Options ;. The language that is not spoken by anyone at all
2. The language that is spoken by many people




3. A language that is most likely to expand in the near future
4. A language that is most likely to die in the near future

Question Type : MCQ
Question ID : 41652912435
Option 1 ID : 41652948563
Option 2 ID : 41652948562
Option 3 ID : 41652948565
Option 4 ID : 41652948564
Status : Answered
Chosen Option : 4
Comprehension:
Head tlse Eallowing pastage and answer L guestion (hal Follows,
There are no Waorld Teade Organisation {WTO) definitions of *developed”™ and * developing™
crmiries.  Membors mnpoence by ihemee ioes whother they are “developed™ ar “devel oping™
coundeles. Howrever, other membors can challenge the decision of a membor o ma ke use of provisions
available to deveboping countrics.
D oping, couriéry stivtus bn the WTO brings certain rights. These ane forevamphe prosdsdons
in e WO Agrprmenis whisch provide developing aouilsins with bonpor IS o ponods belon:
thary Sre pogusnod e fully Emplesmont the apreoment aad developing counbres can mdeive chnacal
assdslange,
That & W meenber Sewiouncs gsdll & a hmrgmmg:mmnm&'ﬂy Fhnan
Ehas it il Bt Bt U inilaterall profences schiemis voun ey e
such as te Gencraliaed Sesiem of Proferenos (0587 I practioe, ﬂhihm-lmmuhingmﬂ
wihich diecidos ihe et off deveeloping countries
SubQuestion No : 4
4 Who decides whether one country is developing or developed ?
Options ;  Tha neighbouring countries
2. The World Trade Organization
3. The country itself
4. The preference giving country
Question Type : MCQ
Question ID : 41652912439
Option 1 ID : 41652948575
Option 2 ID : 41652948574
Option 3 ID : 41652948576
Option 4 ID : 41652948577
Status : Answered
Chosen Option : 3

Comprehension:

Wead il Eallowing pasage and anvwer L guestion (bl Bollows.

There are no World Teade Organisation {WTO) definitions of “developed”™ and = developing™
coiEiries. Membors mpoence e ihemes bors whther they are “developed™ ar “dovel oping™
coundeles. Howrever, othes membars can challenge the decision of a enemborio ma ke uss of provisions
availabie to developing countries.

Diwedoping comnery stvtus bn the WO Brings contain rights. Thereane farmample provisions
n s WD Agrevrmenis which provide developing oouilriss with bonjpor v om panods belore
they are requend 1o fully implement the agroment s developing countries can noceive Bchnacal
FLLSCIRT

That 3 W pwenber Sewcances Sscli o hmrgmmgt e ok aubenatcally moan
thuat it wild benefi) Eroms the anilsteral proferrs schomes of seese of e doveloped county memben

such am e Generaliaod S sem of Preferonos (0501 by practioe. it s the profennoe giving country
wihich diecidos ihe et off deveeloping countries

SubQuestion No : 5

Q5 Why would a country likes to announce itself as a developing country ?




Options; - 54 that it need implement WTO agreements
2. 5o that it can become member of WTO

3. So that it can become the prcfemrme giving country

4.
So that it gets some relaxation of time in implemenation WTO agreements

Question Type : MCQ
Question ID : 41652912441
Option 1 ID : 41652948583
Option 2 ID : 41652948582
Option 3 ID : 41652948585
Option 4 ID : 41652948584
Status : Answered
Chosen Option : 4
Comprehension:
Head ilse Pallowing passage and answer Lee guestion ihal Follovws,
There are no Woerld Teade Organisation {WTO) definiions of “developed”™ and * developing™
coiEiries. Membors mpoence e ihemes boes whother they are “developed™ ar “devel oping™
coundeles. Howrever, othes membars can challenge the decision of a enemborio ma ke uss of provisions
availabie to developing countries.
Diewrdopring counery stitus bn the WTO Beingacortain rights. There are forevaemphe prodsdons
en denirng WD Agreeman s which provids developung courrieies with bonpor 1k o penaods before
they are requend 1o fully implement the agroment s developing countries can noceive Bchnacal
aasdslane,
That 3 WTTH pwenber seneuness Beeli s developing, coumtry dos ot suteenaieally moan
ehaa it willl Benedin Erons the unilateral profenors schemes of soee of the doveloped countrr meabers
such o the Gieneraland Sestem of Prefesonos (G5 b proctioe. it s the prefermnoe ghving countey
wihich decidios ihe st off dsvseloping countries
SubQuestion No : 6
Q.6  Whncan change the decision of a rountry bo make use of provisions available to developing
ooum tries. 7
OPtions ) The preference giving country
2. The World Trade Organization
3. Any neighbouring country
4. Any member country of WTO
Question Type : MCQ
Question ID : 41652912440
Option 1 ID : 41652948581
Option 2 ID : 41652948578
Option 3 ID : 41652948579
Option 4 ID : 41652948580
Status : Answered
Chosen Option : 4

Comprehension:




W pher frdlowing passape and ansser il guies ion (hat follows.

When a child is born, her firt conmection o the world s csta Mished theoagh her mother, or in
a Doprnmhor s, h-l'jul‘t'li A bnilam sy 1B woild l'rrcl.ng,h T prament’s e | alie Bries o bl
wmﬂuwm e paremie.  Thas, & parent-child relaonship Lays te founda ben o
the *aildmg of ler ', Parcnbing is the bringing up of a child. 1t is B the nourishment that &=
rrevessary for a sapling o grow inte o bigand froifeliree. Hemoe. for achild boe grow indoa wonderful
B being, pood parenting i sstential,

Marenting sty les vary from culiuse o cfiure. The workd s a big plaoe comprising of a varety
o peophe aving diffenmt wave of Bvirg.  Although culburs @ the ey ingrodent, the sondome
sitnaakion and sandard of living also have an impadt on pasentisg, Whibs therto aro a oatrmoen sl o
walues in Jiflorend caliyies like bomety and inbegrity, Uee va koo sysiom stambs divielnd on some o
the majer facets of parencing, exemplified by the comparison of the Tndian sople with thar of the
Wt

SubQuestion No : 7
Q7 parenting here is compared to :
options 1 | noking after a pet
2. Maintaming a vehicle
3. Maintaining a relationship

4. Mourishing a plant
Question Type : MCQ
Question ID : 41652912445
Option 1 ID : 41652948595
Option 2 ID : 41652948596
Option 3 ID : 41652948597
Option 4 ID : 41652948594
Status : Answered
Chosen Option : 4
Comprehension:
Head ther fodlowing passapge and answer ibse question that fllows.
When a child s bamn, her first comneotion lo the world s csta blished through her mother, or in
A DprimchT s, Mjumt A il am sevs e woild lm:l.lgh T pnment s erves | s TS bo bl
everylhing che en ber parents. Thes, 2 parent-child relatonship Lavs Lhe foumds ben of
the “ldmg of fer ', Farcnbing is the bringing up of a child. 1t is 1B the nourshment that
oevisary for & sapling o grow into o big and froifelteese. Himoe. for achild bo gros indo s wonderful
Burmes hl",ﬁ. Eﬂd pereriting in it ial,
Parentireg sty les vany (mom culiuse o ofiure. The world s a big plaoe comprising of a variety
o peeple having diffenmt wans of lvieg.  Although culiure s e ey ingrodent, the stonome
bk aned standard of T also have an impact on pasentisg, Whibs there aro o conumeon sl of
valus inJiflerent aaliures like homesty and inbegrity. U vakie sysioen stands dividied an some ol
the magor lacets of parencing, exemplified by the comparison of the Tndian sople with thar of the
Wt
SubQuestion No : 8
Q8 Parenting is basically :
Options 1 Culture independent
2. Common across all cultures
3. Culture dependent
4. Counlbry independent
Question Type : MCQ
Question ID : 41652912444
Option 1 ID : 41652948591
Option 2 ID : 41652948593
Option 3 ID : 41652948590
Option 4 ID : 41652948592
Status : Answered




l Chosen Option : 3

Comprehension:

o £l ol g psissape wnd amaser i guiest ion (st follows.

When a child is bamn, her first comneoticn lo the world s csta blished throagh her mother, or in

a Dvprumchir semas, 'Hl!’\ll"l'l.i. A Enlamt sevs e world i'rmugh Fuer il b | ahiee BT e kbl

ghi: in ber parenis. Thes, a pareni-child relabonship lays the inunds bon of
the wg of fer I, Parenting is the bringing up of a child. 1t is 1l the nourishment that s
revessary for a sapling to grow: into abig and froitfultrese, Himee, for @ child boe prow indoa wonderful
Erna being, oo parorting is sstontial,

Parentirg sty les vary (rom culiuse o afiure. The world s a big place comprising of a varety
of peeple having differmt wans of lvieg, Although culiure i the ey ingrodient, the sonome
sk aned standard of living also have an impadt an int. While there are & conwrmen sl o
vallues indBienent aaliures like horesty and inbegrity. U vahie sysiomn stands dividiad on sose ol

tha e facets of porensing, esemplified by the comparicon of the Trdian sople with that of the
Wt

SubQuestion No : 9

Q9 Which of the following is 2 major differentiator an some of the major Facels of parenting 7
Options ) yalue system
2, lntn:-gn'-ty
3. Honesty
4. Love

Option 3 ID

Question Type :
Question ID :
Option 11D :
Option 21D :

MCQ
41652912443
41652948589
41652948587

: 41652948586
Option 41D :
Status :

Chosen Option :

41652948588
Answered
1

Comprehension:

Biradd the finlbawing possagr and anuaer the quastian that fallmes,

Speve Fods wan am enigra. He woas quisky. Tweonlkd like goshane a fow life knomm facns absal
thir gadey wibes prelly mrach changad the warld with oo semall icheslagoeal e,

Sty Jobw liked W wark bare foot (evon whild i eorporale envinmmenis and daring millsm
dallar nepotiskions) Hio wes vegan and often weol on divks whene b wiosld only st orange tkings,
He wasa S Bodd b aml extemively travedied [ndia during bis yoots, He was such.a pesfooticmst
ihai Irrﬂ-ma]'nﬂ wiwen har Fad ney Temibuee in his Boose ab alll becavss he ooodd nob diocide
viliad io bey. He used to neod his favoarniie book of all e, every single yoar * Antobiogrophy of a
vt by Marambansa ogananda. This mam was not alifsakd o be hinsell “Bemembering that Fllbe
donddl s, i e sl imporatant bowd, T v e enonien L mh«lrmn‘l:r Ihrhg_d'rulfnm [ITES
Al evervthing - all extermal expeckitons, all prids, all fear of covbarresmend or faileee . these
things jest all avway in the face of desth, beaving onby whal b eely important™

T, e fo sy ~Remenbering thal von ane poiag o dio is the beat way | knew o avoid the
trap of thinking, you haye something o ke Yow are alnssly nmakasl. There is o rosson mol o
Fallow vome hoart, Mo ane wards o die, Even peopile whi wasts b go s heaven, 4o ol wanl b dig
ter gt ey, Al el et 6 it dentination, we all sbars, Mo ore has over cocipod i, anal Baatis

her it sbruld b, Decawse doath i very Bholy te single e imvention of B, s s change
ageeit. 18 cloars ool Uhe obd tomabko way for e pew ™

SubQuestion No : 10
Q10 “Remembering that you are going to die, is the best way [ know ... .~ 1in this line is:

OPtions 1. The author of the article
2. Steve Jobs

3. Any manager

4. The narrator in the arbcle

[ Question Type : MCQ




Question ID : 41652912449
Option 1 ID : 41652948606
Option 2 ID : 41652948608
Option 3 ID : 41652948609
Option 4 ID : 41652948607
Status : Answered
Chosen Option : 2
Comprehension:
Hirad the fnlbowing passage snd snswer the quuestion that fallines,
Speve Jos wan an enigiea. Hewas quisky. Tweuld Hke g shane a fow liile knomon (3004 aboat
the Faact wiho pretly mwch changad the warkd with o semall lcheological device,
Stavw Jobw Hlsd w wark bare foe frvon whals in ooporats envionmonts and duaring millsm
diallar nepotiskions]. Hi was vepan and ofion weol on dirks whene his wiosld only oal arangs tkings,
He was a Fom Boddhint ol cabommbvely ravelied lndia during bis youlh, Hews such a posectaonist
thst Im'rul:-a]vlrﬂ wiwn her fad ney Tmibuee in his Bosuse st alll, hecavse he ooudd nob docde
whai o bey. He used o read his favourniie book of ol dme, every single voar * Autobiography of a
wopds by Paramnha nea Wogananda. This mam was not affakd o be himselfl “Bemembering that Flbe
deadh snon, i 1he mosi impoeatand iood, Tee everonooeniessd o belp me make the big dhodoes in life.
Almeesl everything — all exierral expeciabions, all pride. all fear of eovbarrosmend or failene - thes
things jusl fall avway in ke face of desth, beaving onby whal b reely important™
o, umad o sy = Hensenbering that you ane poing o dic is the best way | knew 1o gvoid the
trap of thinking, you have something o kse. Yow are slnssdy nakasd. There s po norson mol e
falloaw vour hoart. Mo ane wast i der, Even peaple who wants ta goto heaven, & mal sant i die
bo et B, Aol el dbeath i e enbna tion, woe all bare. M oo has ovir cscaped L anel Brat i
e & sbwcruabd b, Do doath in very Bholy the singhes bl invention of Ble, Wis Bic's change
aggeeil. 18 cloars oal Uhe obd fo mako way foe e res
SubQuestion No : 11
11 .
M This passage tells us :
Options N
P 1. Steve Job's life story.
2. Steve Job's business management skills,
3. Some not very well known facts.
4. Very well known [acts about Steve Jobs.
Question Type : MCQ
Question ID : 41652912452
Option 1 ID : 41652948620
Option 2 ID : 41652948621
Option 3 ID : 41652948619
Option 4 ID : 41652948618
Status : Answered
Chosen Option : 3

Comprehension:

Hirad the fnlbowing passage and snsweer the cuuestion thal fallines,

Speye Jobs wor anmigne. Hewas quirky Tmuﬂhmm;mafmliﬁ-mrm:hu

Stwve Jobs Ik Mwwlmrwuwmwmtﬁmﬂm-mmunm
dallar nepotiskions]. Ho was vegan and often weol on disrts wheno b woeld only sl arange tkings,
Fle was a e Bodd bt amd eatermively travelied India during bis youlls, Hewas such.a pesdecticmist
ihai Iuﬂ-ma]'nﬂ wiwn har Fuad mey Tmibuee in his Besose ab alll, hevavss he ooodd nob doclde
wihad io bey. He used o reod his favoaniie book of all dme, every single yoar * Autobiography of a
wogis by Paramnha nea ogananda. This mam was nol alifsakd bo be himselfl *Bemembering that Flbe
i soa, b i e mosi unpnr.i..l.lih'ml Twe mwmuudmh«lrmmb I!uhu_d'rnl:umhn
At evervthing - all extermal expocitions, all prids, all fear of covbarroemend or failere . these
things jesl fall avay in ke face of desth, baving onby whal b reely important™

Tobi, miad o say ~ Renmnbering that vou ane poing o die is the best way | kne 1o avoid the
trap of thinking, you haye something o ke Yow are slnssdy mabasl. There s mo rorson mol e
Falloww vomr hoart, o ane wastt 1o die, Even peoile who waes (o go b hedven, 4o ol wanl b die
tor et b, Al el eaith B e dentina tion, we all sbare, o ore has ovir cocaped i anal Brat s

heer i sl b, Bcawse duath i very Bholy the single e imvention of B, Wi Bi's change
agenil. Tnclears oot the obd io make way for the rewe”




SubQuestion No : 12

12 1n the passage which one of the following in not true ?

Options ) - Death is the single best invention
2. Look for death
3. Noone escapes the death
4. Death is the destination

Option 2 ID

Question Type :
Question ID :
Option 11D :

MCQ
41652912450
41652948612

1 41652948613
Option 31D :
Option 41D :

Status :

Chosen Option :

41652948611
41652948610
Answered

2

Comprehension:

Biradd the finlbawing possage and anuaeer the quastian that fallmes.

S Jrobs wan an enigasa. He woas quisky. 1 woukd Hie g shane a fow e Kniom facrs absot
the giey wiha pretty rrach changad the warld with ons senall loecheslagneal deace,

Sitwrvw Jobs hiked w0 wark bare foot (v whala i eocporate anvimnmen s and daring millsn
dollar nepotistions). Hio was vegan and ofien weaton divts whero ha wold only ot arange things,
He wasa Srm Bodd bt a il eatembvoly travedied [ndia during bis yoots, He was such.a posfocticmst
that there was a perand wiwn he had ao lemitaree in his bouee st all, hecause he oould not docide
viliad io bey. He used to neod his favoarniie book of all e, every single yoar * Antobiogrophy of a
wiosgh . by Paramhainss Yogansnda. This sam was not aifrakd bo'be hinsell. *Remembering that Pl
deadd snon, i 1he mosi imporatant inod, Tee everonooeniessd i help me rake the big choboes in life.
Al evervthing - all external expecbitons, all pride, all fear of covbarremend or failere . these
things jest fall avway in the face of desth; beaving, onby whal b meely important™

e, usad o sy ~Renenbering that vou ane peing o die is the beal way | ke io svoid the
trap of thinking, you haye something o kse. Yow ane alnssly nakasl. There is po rosson mol e
Fallow vour hoart. Mo ane wasds o die, Even peopile whi wasts ba go s heaven, da ol wanl o &y
ba et bheme, Acwdl el death s the destination, we all share, Mo oo has v cscnped i, anall Batis
terw i sbwould b, Decause death b very By O singhe bt rvention of Be. 0 is lile's change
ageeil. 18 cloars ool Uhe obd tomabko way for e pewe ™

SubQuestion No : 13
Which of the following statement is false 7
Steve Jobs had no furniture at his house because:

Q.13

OPtions 1 He was a perfectionist

2. He wanted to buy the perfect fumiture

3. He could not decide what to buy

4. He had no money

Option 3 ID

Question Type :
Question ID :
Option 1 ID :
Option 21D :

MCQ

41652912451
41652948615
41652948617

: 41652948616
Option 4 ID :
Status :

Chosen Option :

41652948614
Answered
4

Comprehension:




Head the fanllawing passage and answer e gquastiom that fallmes,

Spese Jos ik an enlgnea. Hewa quisky. Twenkd ke b share b fow 1iile knemn fa004 abseat
thir paaey whar pretty mach changesd the workd with cos senall loscheslopmcal devce,

Stwve Jobs lksd Mwﬁlmﬁﬁl!hWWHhHWHMFMimqm
diallir nepotiskions]. Hi wes vepan and oflon weel on dils where he woald only oat orange thkings,
He w as & Frm Pogdd b amd catesmively ravelied Dndis dusing ks s ools, He was such a posfoctist
Lhﬂlmrna]‘n*ﬂl wiwn he had noy femnibure inchis house ab all, ecawss he could nob docde
wihai o buy. He usod bo read his favourite baok of all time. every single vear ‘ Astobography of a
vogi s by Marambe nes Yopananda. This sam was not afifrald to be hinsell “Remembering that Fllbe
dhomch o, b 1hat sl impoeatand bool, e cver onomenbessd b belp me make the g chokoes in lile.
Almecs evervthing - all exterral expectabons, all pride. all fear of cowbarresmend o failore . thes
things just 2l asway bn (he faoe of death; beaving only what b ey impoatant™

b, maad de say ~ Renssnbering that you ane poing o dic is the bt way 1 knone lo gvoid the
trap of thinking you heve something o ke Yow are alnesdy naked. There is po rogsan. pol e
Fallony vomur havart. B ane wastiio die, Even poople whowaets ta go o heaven, & nol wani o die
be et therr, Acwd yel, death i the destination, we all sbare. Mo one has cver coopod i and Batia
hor it sbwoubd b, becouse dvath b very Bhely e singhe beat imveation of e, 1 is life's clage
ageeil. 1t clears ond ithe okd fo make way foe the rew.™

SubQuestion No : 14
Q14 Geve Jobs believed in:

Options | Allruism
2. Perfoctionism
3. Materialism

4. Mormmatsm

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
41652912448
41652948605
41652948603
41652948602
41652948604
Answered

2

Comprehension:

Hirad the finllowing possage and anawer e quiestiom thal follimrs,

Sgewve Joit was an endgaea. He was quisky. Tweukd Hke g share o fow 1iile knemmn faces abseat
thir gaiey wihas pretty mirach changed the warld with oo senall iocheslofneal devce.

Seve Jobm Bled woaork bare foet firvon whale @ acparals eaveenments ane] daring millamn
diallar nepotistions). Hi was veganand often weel on dists whene b wosld only ot orange things.
He was a S Begdd hivtaml extermively ravelied India during kis sy oots, He was such o pesfectomsist
Uhat Eheere weas a perand wwen he had ne fenituee inhis Bovse st all becasss he osld nob docids
wihai i buy. He used o read his favournite book of all tme, every single yoar ‘ Antobography of a
woi: by Marambanea Vogananda. This sam was not aifrakd bo be hinsell “Bemembering thad Fllbe
domd s, i e mosi unpur.i..l.nﬂml T v er cnonien beped mhvl;p-rru-mb Ihl:uu_d'rnhrnmhll.
Aot evervthing — all exterral expec tons, all prisde. all fear of covharresmend or failore . these
things jusd fall asway in e faoe of desth, beaving onby whal b reely impoatant™

T, e i sary = Rensenbering that you ane poing o die is the beit war | knenw 1o mvoid the
trap of thinking you have semething o ke Yow ane alnssdy nakasd. There is mo oo ol o
fallow vour hoart, Boane wasts odie, Even people whowaets ta go o heaven, da nol wani o die
ter et there, Aswd yol, death i the destination, we all sbare, Mo oo bas over cocaped i and Buatia
herre i sl b, Do doath i very Bholy the singhs ol imveation of Ble. 1is Bis chage

agesl. 15 clears ool Uhe old fomake way foe e rewe”
SubQuestion No : 15
Q15 ‘The passage is written in:
Options 3 Third person narrative
2. Multiple person narrative

3. Second person narrative

4. First person narrative




Question Type : MCQ
Question ID : 41652912447
Option 1 ID : 41652948599
Option 2 ID : 41652948600
Option 3 ID : 41652948601
Option 4 ID : 41652948598
Status : Answered
Chosen Option : 1
Q.16 ’ i
Select the grammetically correct sentence from the following:
Statements ;
Options 1.
Although he [ailed in thal Mathematics, bul he received a degree in Engdrecrng.
2.
Although he had failed in Mathematics, he received a degree in Engineering.
3.
Although he had failed in Mathematics, that he received a degree in Engineering,
4,
Although thal he failed in Mathematics, bul he roceived a degree in Engineering.
Question Type : MCQ
Question ID : 41652912459
Option 1 ID : 41652948649
Option 2 ID : 41652948648
Option 3 ID : 41652948647
Option 4 ID : 41652948646
Status : Answered
Chosen Option : 2
Q17 (hanse the closest meaning af the proverbyfidiom :
Toleave someone in the lurch.
OPUONS ) Ty Jogve somecne to his/her fate
2. Tomake someone comfortable
3. To help someons in difficultios
4. To respect someone
Question Type : MCQ
Question ID : 41652912456
Option 1 ID : 41652948636
Option 2 ID : 41652948635
Option 3 ID : 41652948637
Option 4 ID : 41652948634
Status : Answered
Chosen Option : 1

Q18 A primafacie case is :

OPtions;  a< it seems to the court after a number of hea rings

2. Asit turns out to be at the end

3. As it seoms at birst sight




4. Asit is made to seem at first sight

Question Type : MCQ
Question ID : 41652912462
Option 1 ID : 41652948661
Option 2 ID : 41652948660
Option 3 ID : 41652948658
Option 4 ID : 41652948659
Status : Answered
Chosen Option : 4
Q19 The follawing sentence is underlined and marked as section A, B, € and 12 Show which
secibon conlaies an rmor,
x) L =] oy
Options 1 I:C:I
2 (B)
3. (D)
4. (A)
Question Type : MCQ
Question ID : 41652912460
Option 1 ID : 41652948652
Option 2 ID : 41652948651
Option 3 ID : 41652948653
Option 4 ID : 41652948650
Status : Answered
Chosen Option : 2
Q20  The following are jumbled up parks of 4 senlence. Rearrange Uhem in 4 proper sequence ©
P did he reakize
O helped by a man
B:  thad he had beon
5: e never s pected
Options 1. SR.QP
2. QRPS
3. PROS
4 PORS
Question Type : MCQ
Question ID : 41652912455
Option 1 ID : 41652948630
Option 2 ID : 41652948631
Option 3 ID : 41652948633
Option 4 ID : 41652948632
Status : Answered
Chosen Option : 3

Q.21  From Lhe options given bebow choose the comect substitube For the underlined ward

Demmsciany ks of Uhe peopbe, by the people and for the peaple. Dlowever, ooy ernmend pun
by 3 few is dangenows for arepablic like India

Options

1. Arhlxx:rac:}r




2. Aum::raﬂy

3. Migarchy
4. Monarchy
Question Type : MCQ
Question ID : 41652912457
Option 1 ID : 41652948640
Option 2 ID : 41652948638
Option 3 ID : 41652948641
Option 4 ID : 41652948639
Status : Answered
Chosen Option : 4
Q22 {howse the comect part of words i il in the bLnks
Tt irstesctor skl the stsdants 1o work the given sum in the noke book smd
hamd it o him for corection
Options 1. oul away
2. om, over
3. puul, over
4. away, in
Question Type : MCQ
Question ID : 41652912458
Option 1 ID : 41652948643
Option 2 ID : 41652948644
Option 3 ID : 41652948642
Option 4 ID : 41652948645
Status : Answered
Chosen Option : 2
Q23 the Fallowing sentence, what does the undedined phease mean ?
A poad teacher is one who sees (o 0 thal a stadent daees nol wads ime Lo reinvending Lhe
shesl
Options ,  wwaste time in imaginary things
2. doing something that has already been done
3. repeabing onesell
4. waske time on unnecessary delails
Question Type : MCQ
Question ID : 41652912461
Option 1 ID : 41652948657
Option 2 ID : 41652948656
Option 3 ID : 41652948654
Option 4 1D : 41652948655
Status : Answered
Chosen Option : 2

Q24 Chanse the ward that is closest in meaning o the word :
ABRIDGE

Options
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1. Understand
2. Shorten

3. Join

4. To fill the gap

Question Type : MCQ
Question ID : 41652912454
Option 1 ID : 41652948629
Option 2 ID : 41652948628
Option 3 ID : 41652948627
Option 4 ID : 41652948626

Status : Answered

Chosen Option : 4

Q25 (‘hoose the correct word that is opposite in meaning to the word :
PACIFY
Options 1. E urage
2. Appravale
3. Discourage

4. Slow down

Question Type : MCQ
Question ID : 41652912453
Option 1 ID : 41652948623
Option 2 ID : 41652948624
Option 3 ID : 41652948625
Option 4 ID : 41652948622

Status : Answered

Chosen Option : 1

Section : General Awareness

Q1 pDebenture holders of a company are its :
Options 1. Deblors
2. Share holders

3. Directors

4. Creditors

Question Type : MCQ
Question ID : 41652912465
Option 1 ID : 41652948671
Option 2 ID : 41652948670
Option 3 ID : 41652948673
Option 4 ID : 41652948672
Status : Not Answered
Chosen Option : --

Q.2



Which country has secured member one spol in the latest FIFA s woorld mnkings released on
25 Ohed, 2018 7

Options | A:gmt:ina
2. Belgium
3. Franoe

4. Brazil

Option 1 ID

Question Type :
Question ID :

: 41652948689
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

MCQ
41652912469

41652948687
41652948686
41652948688
Not Answered

°3  Which one of the following is credil rating agencies in India ?

Optionsl. MIX
2. BARC
3. CARE
4. SEBI

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 3D :
Option 4 ID :

Status :

Chosen Option :

MCQ
41652912476
41652948716
41652948717
41652948714
41652948715
Not Answered

Q4  The Chabahar part being developed by India to gain access bo Central Asia is Iocated in

w hich of the following coundries ?

Options | Gaudi Arabia
2. [ra1.1
3. (hman

4. Tram

Question Type :
Question ID :
Option 1 ID :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
41652912480
41652948731
41652948730
41652948732
41652948733
Not Answered

5 The foundation of modern education syslem in India was Laid by

Options




1. The Hunter Commission of 1852
2. Wood's Despaltch of 1854

3. Macaulay’s Minutes of 1835

4. The Charter Act of 1813

Question Type :
Question ID :
Option 1 ID :
Option 21D :
Option 3D :
Option 4 ID :

Status :

Chosen Option :

MCQ
41652912487
41652948761
41652948759
41652948758
41652948760
Not Answered

Q6 Where is the world’s highest altitude post office located 7

options 1 Gik-Leim
2. Bern
3. Port Lockroy

4. New Hampshire

Question Type :
Question ID :
Option 1 ID :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCQ
41652912485
41652948750
41652948752
41652948751
41652948753
Not Answered

Q.7  Which of the following is wol mode of oolime money tramsfer in Lixlia taowgh enline
bvamdcing ?
Options 1. IMPS
2. RTGS
3. TFSC
4. NEFT
Question Type : MCQ
Question ID : 41652912471
Option 1 ID : 41652948696
Option 2 ID : 41652948695
Option 3 ID : 41652948697
Option 4 ID : 41652948694
Status : Answered
Chosen Option : 2
Q.8

The first Indian LT, Company bo resch 100 billion dol lar macke i capitalication is :
Options | TCS
2. Cognizant




3. ].I!'lEﬂﬁ-}"E-

Chosen Option :

4. Wipmo
Question Type : MCQ
Question ID : 41652912478
Option 1 ID : 41652948723
Option 2 ID : 41652948725
Option 3 ID : 41652948722
Option 4 ID : 41652948724
Status : Answered
Chosen Option : 1
29 The Person behind a wonderful concept “Van Mahotsay” ;
Options 1. A K. Munshi
2. F.M. hunshi
3. ALK, Simha
4. KM. Upadhaya
Question Type : MCQ
Question ID : 41652912470
Option 1 ID : 41652948692
Option 2 ID : 41652948693
Option 3 ID : 41652948691
Option 4 ID : 41652948690
Status : Answered
Chosen Option : 2
Q10 The term’ double fault’ is associated with :
Options 1 Squash
2. Lomg Jump
3. Tennis
4. Rugby
Question Type : MCQ
Question ID : 41652912467
Option 1 ID : 41652948678
Option 2 ID : 41652948681
Option 3 ID : 41652948680
Option 4 ID : 41652948679
Status : Not Answered

OPtions ) pnfrared
2. Ultrasonic
3. Laser

N

. Radio wawves

Q11 Which one of Lhe following waves/rays are used in common TV, Remole control 7




Question Type : MCQ
Question ID : 41652912483
Option 1 ID : 41652948744
Option 2 ID : 41652948745
Option 3 ID : 41652948743
Option 4 ID : 41652948742
Status : Answered
Chosen Option : 1
.12 . 1 i = "
2 Whe among the following heads GST council in India ?
Options -
P 1. The Trade Minister
2. The Commerce Minister
3. Tha Prime hMinster
4. The Finance hinister
Question Type : MCQ
Question ID : 41652912481
Option 1 ID : 41652948736
Option 2 ID : 41652948737
Option 3 ID : 41652948734
Option 4 ID : 41652948735
Status : Answered
Chosen Option : 4
Q13  Comider ihe following sislements regurding ocean currenls.
(1} The bt Msking grounds of the workd sl mainly in e mmiodnes Fooes of warm ard oold
oo CLErnenk
(3 Gravily is ome of laclor inffusring ocsn daronls
Icdentily the corml stadements |
Options | 2) nnl}r
2. (1) only
3. Both (1) and {2) are incorrect
4. Both (1) and (2) are correct
Question Type : MCQ
Question ID : 41652912484
Option 1 ID : 41652948747
Option 2 ID : 41652948746
Option 3 ID : 41652948749
Option 4 ID : 41652948748
Status : Answered
Chosen Option : 3

Q.14
OPUONS1. The Inheritance of Loss
2. The White Tiger
3. The God of Small Things
4. Midnight's Children

For which novel didd Indian mnvelist Aravind Adiga win the prestigious Man Booker Prize T




Question Type :
Question ID :
Option 1 ID :
Option 21D :
Option 3D :
Option 4 ID :

Status :

Chosen Option :

MCQ
41652912468
41652948682
41652948683
41652948685
41652948684
Not Answered

Q.15 The Mew institution that is now playisg the mile akin to erst while planning commission of

tndlia s :

options |\ rpp| Aayog
2. Strategic Policy Group
3. Swacch Bharath Mission
4. National Security Council

4. Afghanistan

Question Type : MCQ
Question ID : 41652912463
Option 1 ID : 41652948662
Option 2 ID : 41652948664
Option 3 ID : 41652948663
Option 4 ID : 41652948665
Status : Answered
Chosen Option : 3
Q.16 The train accident that killed &1 pecple wabching Dussera Celebrations in 208 happened ai
wihach pllae
Options !
PRONS 1. Chennai
2. Patiala
3. Bangalore
4. Amritsar
Question Type : MCQ
Question ID : 41652912475
Option 1 ID : 41652948712
Option 2 ID : 41652948711
Option 3 ID : 41652948713
Option 4 ID : 41652948710
Status : Answered
Chosen Option : 2
Q17 jindia andd which enuntey have agreed towndertake the Indos Waber Trealy baursinthe ndus
basin i baoth sides to resolve issoes on the varsas hydooebectric projects ?
Options 1. Chi
2. Pakistan
3. Bangladesh

[ Question Type : MCQ




Question ID :
Option 1 ID :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

41652912464
41652948668
41652948667
41652948669
41652948666
Answered

2

Q1% What is the full form of NI'C1?
Options ;- Nano Center for Political Integration
2. Nabional Council Process Interaction
3. National Payments Corparation of India
4. National Public Control of India

Question Type :
Question ID :
Option 1 ID :
Option 2 ID
Option 3D :
Option 4 ID :

Status :

Chosen Option :

MCQ
41652912474
41652948706

1 41652948708

41652948707
41652948709
Not Answered

Q.19

Options 3 Cyrrent Reserve Ratio
2. Cash Reserve Ratio

3. Corporate Reserve Ratio
4. Custom Reserve Ratio

The CRR in banking parlance means the following :

Question Type :
Question ID :
Option 1 ID :
Option 21D :
Option 3 ID
Option 41D :

Status :

Chosen Option :

MCQ

41652912479
41652948726
41652948727

: 41652948729

41652948728
Answered
1

ATMOSTITIERE -

(3l i the oateome of acdhvedtion prooms.
Identity the correct slabemens :

Options 1. {z:l and {3] ﬂﬂl}r
2. Al (1), (2) and {3) are incorrect
3. All (1), {2) and (3) are comrect

4 (1) and (2) only

(1) Cromvention is impoetant in heasing the lower Livers of the steasphaee,
(2} The conventbon branafer of cnergy isconlined only i the Lo posphee.

Q20 (onsider the following stalements regarding HEATING AND COOLING OF




Option 1 ID

Status

Question Type :
Question ID :

Option 21D :
Option 3D :
Option 4 ID :

MCQ

41652912486
: 41652948755
41652948757
41652948756
41652948754

: Answered
Chosen Option :

1

Q2 \Who among the following is not conferred Bharath Ratna ?

OPtions 1 Atal Bihari Vajpayee
2. Melson Mandela

3. Sachin Tendulkar
4. If-'.apil Dov

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 3D :
Option 4 ID :

Status :
Chosen Option :

MCQ
41652912472
41652948699
41652948700
41652948698
41652948701
Answered

2

Q22 Which of the following countries is not a member of SAARC ?

options ; Bhutan

2. Myvanmar

3. Maldives

4. Afghanistan

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

MCQ
41652912466
41652948675
41652948677
41652948676
41652948674
Answered

3

Q.23 The majnr nation that anmounced the withdrawal from Paris climate change accord in 2007
Wik

Options:L SPﬂ-m-
2. Germany

3. Sri Lanka
4. United States of America

Question Type : MCQ
Question ID : 41652912473
Option 1 ID : 41652948702




Option 2 ID :
Option 3D :
: 41652948703

Status :
Chosen Option :

Option 4 ID

41652948705
41652948704

Not Answered

Q24 Who ameng the Following is NOT associated with billiards in India ?
Optionsl_ Subash J"Lﬁﬂ\“{ll
2. Manoj Kothari
3. Mihir Sen
4. Ashok Shandilya

Question Type :
Question ID :
Option 1 ID :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCQ
41652912477
41652948721
41652948718
41652948719
41652948720
Not Answered

Q.25 Tl responsilsiliies of establishing and mainbainang sstound and effisiend Acomnting aned
Financial Reporting system in Inafia is vested imthe hands of -

Options 1. RBI
2. The Comptroller General of Accounts
3. NITTAYOG

4. Finanog hﬂirﬁ;try

Option 4 ID

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :

: 41652948741

Status :

Chosen Option :

MCQ

41652912482
41652948738
41652948739
41652948740

Answered
1




